
Rates = Round( AE x AgeSex x Area x Base x Inflation x Marital x Tobacco x Coins Ded OOP ,2)
Preventive Care Benefit Rates = Round(AgeSex x Area x Base x Inflation x Tobacco, 2)

Lowest Highest Lowest Highest

A AE: Adult 1.07 1.07 1.07 1.07
B AE: Child 1.09 1.09 1.09 1.09
C Age 42 Age Factor 1.368 1.368 1.368 1.368
D Dependent Age Factor 0.35 0.35 0.35 0.35
E Area Factor 0.784 0.823 0.784 0.823
F Base 182.97 182.97 182.97 182.97
G Inflation 1 1 1 1
H Marital 1 1 1 1
I Tobacco use 1 1 1.17 1.17
J Benefit Option (Coins 80 OOP 2000) 0.8678 0.8678 0.8678 0.8678
K Adult Rate (A x C x E x F x G x H x I x J) 182.22 191.28 213.19 223.80
L Child Rate (B x D x E x F x G x H x I x J) 47.49 49.85 55.56 58.33

Preventive Care Benefits
M Age 42 Age Factor 1.368 1.368 1.368 1.368
N Dependent Age Factor 1.56 1.56 1.56 1.56
O Area Factor 1 1 1 1
P Base: Preventive Care Benefits 18.92 18.92 18.92 18.92
Q Inflation 1 1 1 1
R Tobacco use 1 1 1.17 1.17
S Adult Rate (M x O x P x Q x R) 25.88 25.88 30.28 30.28
T Child Rate (N x O x P x Q x R) 29.52 29.52 34.53 34.53

Total Family Rate (2 adults age 42 + 2 children) 570.21$  593.06$  667.14$  693.88$  

$5,000 Deductible
Nonsmoker Smoker



) + (Preventive Care Benefit Rates)

Lowest Highest Lowest Highest

1.07 1.07 1.07 1.07
1.09 1.09 1.09 1.09

1.368 1.368 1.368 1.368
0.35 0.35 0.35 0.35

0.784 0.823 0.784 0.823
182.97 182.97 182.97 182.97

1 1 1 1
1 1 1 1
1 1 1.17 1.17

0.5996 0.5996 0.5996 0.5996
125.90 132.16 147.30 154.63
32.81 34.45 38.39 40.30

1.368 1.368 1.368 1.368
1.56 1.56 1.56 1.56

1 1 1 1
18.92 18.92 18.92 18.92

1 1 1 1
1 1 1.17 1.17

25.88 25.88 30.28 30.28
29.52 29.52 34.53 34.53

428.22$  444.01$  501.02$  519.50$  

$10,000 Deductible
Nonsmoker Smoker


